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B} E BE R
I & A i L B -~ |BEu| ¥ 2 |BEERA¥SE i
B+ T
HEHIT £ Al h) m® 151.9 150
B+T Bt BRiARE L m® 4.8 5
i B9l m® 105.7 110
Bt uET BIELS EHE S m’ 41.8 40
HKkEEY T
fEgE+T FRAE Y BRAE (/MR 8.9 9
BRL W<m m® 7.1 7
flET £ RUZ A% 300 x 300 m 20.4 20 | (—$&&p)
" 300 x 300 m 6.0 6 | (HEMTED)
" 300 x 300 m 8.0 8 |(HHADED)
I3 {815 450 100x600 | m 72.3 72 | (—h8ED)
" 450x100x600 | m 8.0 8 |(HHADED)
LA 5% 450x105%600 | m 8.4 8 | (H#MTED)
SkpT £k HIA (00500 xh1000) | &k 2 2 |gEKk A
£k HiB (01500 x h600) | EFr 2 2
RIK &K B2B L Sk BIA el 1 1
3
iR+ 8T HER LB T (1) m 70.4 70
BEMBET
HEYEREL T S R B A Asik i 119.6 120
9y~ EUE L Eidii] m’ 2.3 2




B E B

g R

I & A o AL S I I~ B A 72 2 BER%E B =
Y- bR L B m® 0.9 1
SEEER IOy o s o m 2.4 2
[Pl e Bh 2= IvhY-pEA m 1.2 1
E LR T R AL As#k m® 6.0 6
eC ) B conk (4EAF) m’ 2.4 2
eC ) B conzk (HHR) m’ 0.9 1
SET
FRI7IHET
FRI7IL FBET TERET | @E0AREt=19%m | m 345.7 346
LERBET | @EEREREt=5m | 345.7 346
TEZEET  [RC-40 25mm=t<29mm| ni 92. 1 92
BT (t=5cm) BATHEFAIL 09| 437.4 437
BAeL
BAEL EERIOVY m 3.5 4
SEEERIOVY ) m 1.2 1
Ram L
INRREET SRR ;. LAHTVIL| & 1.0 1
R aAT B $60.5 = 1.0 1
XE#HRT
AR XE R ES A=) W=15cm m 31.5 38 |BEMHIER
E3 A=) W=45¢cm m 10.2 10 |[¥I5
(FKEENMRS)
EEsT




B E B

I 18 23l i ML g - ik =K = ¥ = H =
BRLT ERRIEA BHO. 20m3 m® 29.7 30
EHIBRA BER m® 12.9 13
SHITRB FaEt m® 4.2 4
F4 g 4tDt m® 25.5 26
BEHEBT B BER m® 3.2 3
BhHRT |EEELE-LE ¢ 250VU m 35.4 35
WETSRFYIEEE @ 250FRPM m 1.3 1
X oR—ILT

AT AT [MT1Swi-IERET| 15AFLGEHEH) | #A 1.0 1
$BIT1 B =X 1 1

MHT (5447 b-b)
srrsemrruer | 34F-7" b-MESIT ] A2 ¢ 2000 m 3.1 3.1
34+-7" V-HER Hpas E=8 1 1
341-7" V-MBE HEL m° 1.8 2
+-7" - MEET F3# ¢ 2000 m 3.1 3.1
34+-7" L-bE F3# ¢ 2000 =% 1.0 1
4+ EHNS 4tDt m® 1.7 8

HARBE ()
EiEE 1RER 1 E M E t 0.670 0. 670
RifIEEE T HEERE Affiv nLEmRE | K 1 1

REBEFEERS
R A 6.0 6.0







BT TEE ) E NO. 1
BT T
YEHIT B OH (LEHEESR) 151.9 m?
BT B+ B (LEHEESR) 4.8 m
" ® o +E (LEHEESR) 105.7 m?
BRIET K B+ (LEHEESR) 8.9 m® REERT
BET ) (LEHEESR) 7.1 mt  REEET
BLIET
BREENS  1=1. ki EHIERIE-(BR+ET) 0. 9— it 41.8 m® DIDgm. gt




i Al T+ EHEE NO. 1
B BB i 4 U th_i% i
NO. 0+4. 10
15. 90
NO. 1
8. 52 0.15 1.28
NO. 1+8. 52 0.
7.17 0. 20 1.43
NO. 1+15. 69 0.
4.31 0. 50 2.16
NO. 2 0.
6.19 2.35 14.55
IP. | 3.
9. 46 2.55 24.12
NO. 2+15. 65 1.
4.35 1.85 8. 05
NO. 3 2.
8. 42 3. 85 32. 42
IP. 2 5.
7.21 4.55 32. 81
IP. 3 3.
4.38 2. 60 11.39
NO. 4 1.
10. 84 1.10 11.92
NO. 4+10. 84 0.
3.56 1.15 4.09
NO. 4+14. 40 1.
5. 60 0. 95 5. 32
NO. 5 0.
6. 05 0. 30 1.82
NO. 5+6. 05 0.
5. 82 0.10 0.58
EP
& i 107. 78m 151. 94m3




Bt T =iHE=E NO. 1
B BB i 4 U th_i% i

NO. 0+4. 10

15. 90
NO. 1

8. 52
NO. 1+8. 52

7.17
NO. 1+15. 69

4.31
NO. 2

6.19
IP. |

9. 46
NO. 2+15. 65

4.35
NO. 3

8. 42
IP. 2

7.21 0. 05 0.36
IP. 3 0.1

4.38 0.10 0.44
NO. 4 0.1

10. 84 0.05 0.54
NO. 4+10. 84

3.56 0. 25 0. 89
NO. 4+14. 40 0.5

5. 60 0. 25 1.40
NO. 5

6. 05 0.10 0. 61
NO. 5+6. 05 0.2

5. 82 0.10 0.58
EP

& i 107. 78m 4.82m3




B T T+ £ EE NO. 1
B S BB il T T "I i
IP. 1+2. 18
7.28 295 16. 38
NO. 2+15. 65 4.5
435 5. 75 9501
NO. 3 7.0
8. 42 5. 50 46. 31
IP. 2 4.0
9.00 2.00 18.00
IP. 2+9. 00
& i 29. 05m 105. 70m3
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K& T+ EHEE NO. 1
B BB i 4 U th_i% w =
NO. 0+4. 10 0.4
15. 90 0. 40 6. 36
NO. 1 0.4
8. 52 0. 25 2.13
NO. 1+8. 52 0.1
7.17 0. 05 0.36
NO. 1+15. 69
4.31
NO. 2
6.19
IP. |
9. 46
NO. 2+15. 65
4.35
NO. 3
8. 42
IP. 2
7.21
IP. 3
4.38
NO. 4
10. 84
NO. 4+10. 84
3.56
NO. 4+14. 40
5. 60
NO. 5
6. 05
NO. 5+6. 05
5. 82
EP
& i 107. 78m 8. 85m3




#H R T+ EHEE NO. 1
B BB Wi & 4 U th_i% i

NO. 0+4. 10

15. 90 0.05 0. 80
NO. 1 0.

8. 52 0.10 0. 85
NO. 1+8. 52 0.

7.17 0.10 0.72
NO. 1+15. 69 0.

4.31 0.15 0. 65
NO. 2 0.

6.19 0.15 0.93
IP. | 0.

9. 46 0.10 0. 95
NO. 2+15. 65 0.

4.35 0.10 0.44
NO. 3 0.

8. 42 0.10 0.84
IP. 2 0.

7.21 0.10 0.72
IP. 3 0.

4.38 0. 05 0. 22
NO. 4

10. 84
NO. 4+10. 84

3.56
NO. 4+14. 40

5. 60
NO. 5

6. 05
NO. 5+6. 05

5. 82
EP

& i 107. 78m 7.12m3




HEkEEY T &t HE £ NO. 1
BiET
FERUZME (—fed) Al 20.4 204 m
£ RUZMAE (HEBTET) A 6.0 6.0 m
£ RUZMAIE (A OHR) H 8.0 8.0 m
M EE (—ARAR)  HEl 33.0 @ 39.3 72.3 m
M A1iE (HEEAER) G 4.0 + Zfl 4.0 8.0 m
LIz 4AiE (U1 F) 8.4 8.4 m  (HEMTER)
Sk#HT
£k 1A (01500 X h1000) 1 1 2 f&F
7K #1B (01500 x h600) 1 + A
FI7K &k #tiZFEE 1 BT SEKHA




HEKEEY T e = Al NO. 1
RRESN T|FRG R REREES G mpps | mispis | skea | sokais
X i BAL | 300%300 300x300 | 300x300 — AR ED HADE | 0500 xh1000] [1500 x h600 i z
INO. 0+3. 830~N0. 0+4.370 | m 2.5 IR (F L—F I B
INO. 0+3. 570~N0. 0+4. 370 | #HFR 1
INO. 0+4. 370~NO. 0+18.072] m 13.7
INO. 0+18. 072~N0. 1+2.072] m 4.0
INO. 1+2. 072~N0O. 2+1.440| m 19.3
INO. 2+1. 440~N0O. 2+1.980| m 3.5 IS ( L—F I E)
INO. 2+1. 440~N0. 2+2. 040 | #HFR 1
INO. 2+2. 040~ 1P. 1+6. 366 | m 5.8 A
IP. 1+6. 366~NO. 2+16.686] m 4.0
INO. 2+16. 686~ IP. 2 m 11.3
IP. 2~1P. 2+4. 000 m 4.0
IP. 2+4. 000~1IP. 3 m 3.3
=) 20.4 6.0 8.0 33.0 4.0 1 1




BKEBEMT | . Z {8 NO. 1
mmAE | mEE | LRAE £k A &k #iB
X M =R —HEER HAOH (1 F) | 0500 x h1000{ C1500 x h600 B &
INo. 0+3. 570~N0. 0+4. 370 & A 1
INo. 0+4. 370~N0. 1+8. 520 m 23.5
INnO. 1+8.520~N0. 1+12. 520 m 4.0
IN0. 1+12. 520~N0. 2+1. 440 m 8.9
IN0. 2+1. 440~ 1P. 1 (B5ER) m 6.9
INo. 5+9. 040~N0. 5+9. 490 m 8.4
INo. 0+5. 900 (=031 1 MKEEL
& 39.3 4.0 8.4 1 1
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i+ BT (180

£ 28.3

Al 42.1

70.4 m
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BEYBETES B s NO. 1
EiEHEET
B (t=5cm) A=119.6 119.6 m* (FERSR)
Asz®% V=119. 6%0. 05= 6.0 m’
W= FE
WH-MEEYEE L (FER)  (t=5cm) A= 45.2 45.2 m?  (TEESR)
V=45. 2%0. 05= 2.3m (EHEEY)
WY -MEEYEUREL (Bf) ERUVEEEES L=4.3 4.3 m
L R BB E |=8.4 8.4 m
ERUEAEREE V=(0. 54x0. 50- (0. 30%0. 30+0. 40%0. 10) ) *4. 3 0.60 m (EHEEY)
L B EE V=(0. 10%0. 155+ (0. 055+0. 085) *0. 35%1/2) ) *8. 4 0.34 (EHEEY)
A5t 0.94 m (BRtEEm)
SEEBR IO A NO. 0+3. 63 L=1.2+1.2 2.4m  (FERSE)
A=0. 05m
V=2 4%0. 05= 0.12 m’ (EHEEY)
W i e NO. 0+3. 63 L=0. 6+0. 6 1.2m (FEESE)
FIEMEALEE (AsER) 6.0 m’
BRI (conmk) R 2.30+0. 12= 2.4m
FRIEMRILIE (conzk) B 0.9 m







it T & HE = NO. 1

BRAET
TERET (BAEYHARSE (t=19cm) A= 159.51 m?
(SHEEENSE) A= 186.17 m?
a8 & 345.7 m
LERET (B A RIERA t=15cm) A= 159.51 m?
(SHEEENSE) A= 186.17 m?
a8 & 345.7 m
TREEFT
TEEEIE HWEHMHY  RC-40  25mm=t<29mm A= 92.10 m* spzrrmes
FRI7IEHET
BABHNET7Za2 (13) (t=5cm) A= 251.22 m’®
(SHEEENSE) A= 186.17 m?
& & 437.4 m




RET (FETHET 23> (13) t=5m) MR EHE E NO. 1

A = BB B E__ 8 FHEE TR A

NO. 0+4. 370 3.10
15. 63 3.10 48. 45

NO. 1 3.10
8.52 3.10 26. 41

NO. 1+8. 520 3.10
1.17 3.10 22.23

NO. 1+15. 69 3.10
4. 31 3.10 13. 36

NO. 2 3.10
1.44 3.10 4.46

NO. 2+1. 440 3.10
3.03 0.00

IP. 1+6. 366 2.96
9.28 2.96 21. 47

NO. 2+15. 65 2.96
4.35 2.96 12. 88

NO. 3 2.96
4.71 2.96 14.12

NO. 3+4. 766 2.96

NO. 4+4. 509 6.19
6.33 6. 26 39. 63

NO. 4+10. 840 6. 32
0.99 6.32 6. 26

NO. 4+11. 826 6. 32

NO. 4+15. 785 3.50
4.22 3.50 14.71

NO. 5 3.50
6.05 3.50 21.18

NO. 5+6. 050 3.50
= 73. 06m 251. 22m2




B T (B A RERRERI-40 t=150m) HEGHEE NO. 1
B = i 8 EHIEE m_ i i

NO. 0+4. 370 0. 00
15. 63 .00 0. 00

NO. 1 0. 00
8. 52 .00 0. 00

NO. 1+8. 520 0. 00
0. 00 .40 0. 00

NO. 1+8. 520 0. 80
7.17 75 5. 38

NO. 1+15. 69 0. 69
0. 00 .95 0. 00

NO. 1+15. 69 3.10
4.31 .10 13.36

NO. 2 3.10
1.44 .10 4.46

NO. 2+1. 440 3.10
.03 0. 00

IP. 1+6. 366 2.96
9.28 .96 27.47

NO. 2+15. 65 2.96
4.35 .96 12.88

NO. 3 2.96
4.77 .96 14.12

NO. 3+4. 766 2.96

NO. 4+4. 509 6.19
6.33 .26 39. 63

NO. 4+10. 840 6. 32
0. 99 .32 6. 26

NO. 4+11. 826 6. 32

NO. 4+15. 785 3. 50
4.22 .50 14. 77

NO. 5 3. 50
6. 05 .50 21.18

NO. 5+6. 050 3. 50
& &t 73.06m 159. 51m2




R T (7 4 YIARERC-40 t=19cm) HEGHEE NO. 1
B = i 8 EHIEE m_ i i

NO. 0+4. 370 0. 00
15. 63 .00 0. 00

NO. 1 0. 00
8. 52 .00 0. 00

NO. 1+8. 520 0. 00
0. 00 .40 0. 00

NO. 1+8. 520 0. 80
7.17 75 5. 38

NO. 1+15. 69 0. 69
0. 00 .95 0. 00

NO. 1+15. 69 3.10
4.31 .10 13.36

NO. 2 3.10
1.44 .10 4.46

NO. 2+1. 440 3.10
.03 0. 00

IP. 1+6. 366 2.96
9.28 .96 27.47

NO. 2+15. 65 2.96
4.35 .96 12.88

NO. 3 2.96
4.77 .96 14.12

NO. 3+4. 766 2.96

NO. 4+4. 509 6.19
6.33 .26 39. 63

NO. 4+10. 840 6. 32
0. 99 .32 6. 26

NO. 4+11. 826 6. 32

NO. 4+15. 785 3. 50
4.22 .50 14. 77

NO. 5 3. 50
6. 05 .50 21.18

NO. 5+6. 050 3. 50
& &t 73.06m 159. 51m2
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SRS SRR
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FEREITE TN

HEMEHE  t=0. Omm

3-07-19 H=52. 509 VU200 33.9% 8.95
©52.53 50.388 < 50.691
E 52! 55 m\. .
@-}“ " L . 0 [ . - & a) O
,,,,,,,, e
—=@ 52.30
52.75 52,68 BP (M} 52.40
52j152 52.21
As i
LN g
****** — T — e — A ——— — — o —
szsoﬁ—,— R ; — == - —T ] L 4T*
L \ ol
L\Kimi‘gi 7/4ﬁ\7\n\v
L | “
G i
ois i
i i
G [52:95F - | o200 12.4% 18.91 !
5k PR — j 51.290 < 51.525 !
TEEEEE TA=0). 1m2
L i
[ 1
............. N S
52,92 { \ 5290
L ‘. b
:2 S8
Co = B % | “
/
P 9 \ g
i \¢ 5288 |
L ~- .
53,07 Co 55,06 11+8. 52 55 0¢
[l o[ 88 ’[E |
| ~ G o
H o D l
3 |&8 o
+53.04 |5 .
S i o
. [1+15. 69 L
53. 40
53. 559 L o
0 _
SN e 5828 -
5532 53 43///R)5 itff@/'
53.64 = _—
1 e Q \
=)
,,,,,,,,,,, -
r | s T\
= A S =

HEMFHE t=54 6mm

[=31.32m WHEMFEHEL=25 55mm

0. Omm

G

103. 7Tmm

No. 0+4. 370

N
No. 1

15. 63m NZ RV

No. 1+8.52  No. 1+15. 69

8.52m

54.59 54,75 | ‘ |
~e - * 55.01
54,88
NO. 1 NO. 1+8. 52 NO. 1+15. 69
GH=52. 74 GH=52. 91 GH=53. 15
FH=52. 751 FH=52. 976 FH=53. 293
4000 4000
450, 3100 45
i o
: ;
i (P)53.270 7 w5, a5 R (P)53.270
(P)52.728 (P)52. 728 (P)52. 920 1875 3875 (52. 920 I 1 50% 1.50%
| Lsow | 15 2 15D o 1504 s —
e — I —— N - °

HEMTEHE t=103. Tmm







BARIEH i g NO. 1

BELT

HEER IOy Y G NO. 5+6. 05 L= 3.50 m EBRHENG
SEEER IOy Y W) NO. 0+3. 63 L= 1.20 m




[ ity



EH T 5 = = NO. 1

NEE T
R ankhft 400 x 600 ek - LATY XL N= 1.00 #%  0.24m/#&
AT H=3300 B (EBEE) ¢60.5 N 1.00%

600

EEMRAL R () stz e )

3300~3600 (¢ 60.5)

GL 400mm X 600mm

100 500

400




i)



XEfR T EE i E NO. 1
RRRRER

=48 (5)  W=150m L= 11.8+3.0+10. 2+12.5 3.5 m BRI

S48 (5)  W=45cm L= 1.8+8.4 10.2m  +75
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i %

B
. i
s
o [n
"

& Al i Al R Bl # = fi&
ERET ERIEAI BHO. 20m® m® 29. 71
EHRIERA BAR m® 12. 88
EHRIEREB S+ m’ 4,24
254 + qLIE T8 m® | 25 47
EEHBT FhEL R W=900, t=100 m® 3.19
EHRRT BEEILE=LE | ¢250W m 35.4  |3.93+31.46
Bt ISR FvoEeE | ¢ 250FRPM m 1.30
@uvoh—LT (2Em (MM TUR—ILEBET [E5l3i 1
T R — LR E = 1
si-7 L tBTrurT | 3417 - bEREI T B3 m 3.11
3{1-7" L-MEERE HHi4s = 1
317" L-MER FET m® 1.84
3{+-7° L-MEET m 3.11
341-7" L-hE % = 1
A T ERL S m* 7.73
(X@ERZE (ES))
e i & |[IREBMERE t 0.670
B & B & | L5588 iy O LBHRER (RRaRee) Bk 1




EETIHESE

ME 250 mm__ (VUE)

A iy TRHIE & & % HEHRL
£= ) F 1 48 H R W= 0.00m | o | EE | o ERER |(E| 7 n|  LEm) BELD |
BiR4 EE E BIE += L |AI&S| 5 [ B#BE - 0.39m (ma) ;ﬁ;
R4l EFi‘Ji?ﬂ ENE|ERE| &F IEEIZE | BF| | | Faew| x4+
TR A B C A+B+C | Sh%E | MR PR | ER | B| v EEAY| Etf | BEL | Ash¥
mm| {8I:E A& ok #t 0.500 m m m m m m m? m> m m| & m| @& | @& m° m> m° m>
250 BEH 0.750 0.625 0.267 0.100 0.99 0.39 0.60 4.63 417 2.5 0.700 3.93 3.93 1.43 0.47 2.03 1.63
BEH 0.750
250 SIK#A 0.500 0.625 0.267 0.100 0.99 0.05 0.94 32.16] 28.94 27.21] 0.700 31.46| 7| 3.46 11.45 3.77 23.44 45
511226 7+ R #1600 ={EHI1E867 =900
< HEHI1E900 -
oo g
A
Lo BER g
AX 4530. 364m
Ty m m m° m ml & m( & [ & m’ m° m’ m
&5t 0.63 36.79] 33.11 29. 71 1.40 35.39] 7| 7.39 12.88 4.24] 25.47 08




HAIKIEEZBET R IILBEEHR

I & R 1% ¥ B |BAM &

X UR—JLERET

AAERUOER | T-14, 600, E HBAME, B EHBAHE 1| #8
AAERUVOE |0y &% IEAEEF (¢600) 1| {&
HEEE 45mm 1| #8
5% 2 R—)LFEE | ¢ 600%900%450 1| {&
152 > k—)LIEEE 900 X 600 1| {&
REASR (E) 900 x 600 3| @
EBEER (H) 900 x 130 1| &

BIFL ¢ 250U 1 |mm




SEHT (FAF—TFL—}) # & GryuBtk e 2000 )

sl n/4 X 2.060°2 3.33 ot
YU a RN i LI r/4 X 2.000°2 3.14 i
P-10 Wl n/4 X 1.94072 2.95 ni
sl T X 2.060 6.47 m
A% A T X 2.000 6.28 m
Wl T X 1.940 6.09 m
74 F =7 v —F Aoy b F v b
VordiniER (ke)
s TERE | B (ke/ B0 ik (B0 # i (kg) JEARHE | B (ke/#) A% # i (k)
> P-10
P-7
i ke/R
1m¥%Y 223.30  kg/m
1nf24Y 223.30 kg/m  +  6.28 35.56  keg/nf
wiom v o 7 (H B O ) foF OB R N N A

Vor4nER (ke

<
ot
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